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01 = LHA YI 3,000 3,000 0
FN2E SHAY 20,000& = 321 = 50 3,000

CtE3tE J1=23 | 8,520 8,520 0

201 L2l 5,520 5,520 0

01 At 22l 5,520 5,520 0
Oflget=&Hl] 3,000
ORA2E SN HA 3,000,000& = 14l 3,000
SIERTTY 2,520
ORAN2EEN A& 2,520,000& = 14 2,520

202 Oddl 3,000 3,000 0

01 = LH 4 bl 3,000 3,000 0
N2 W A& 20,0008 * 32 = 50 3,000

azelg J=234l 10,000 10,000 0

201 L2l 6,000 6,000 0

01 At 22l 6,000 6,000 0
Olget=&Hl] 3,000
ORAN2E SHAL 3,000,000& * 14 3,000
O[=&tl] 3,000
ORAN2E SHAL 3,000,000& = 14 3,000

202 O4dl 4,000 4,000 0

01 =S LHA YI 4,000 4,000 0
FN2E SHAY 20,000 = 401 = 50 4,000

dAEE J22Zdl 8,000 8,000 0

201 L2l 5,000 5,000 0

01 At 22l 5,000 5,000 0
Olget=&Hl] 3,000
ORA2E SHAL 3,000,000& * 14l 3,000
Ol[=&Hl] 2,000
ORAN2E SHA L 2,000,000& =« 14 2,000

202 O4dl 3,000 3,000 0

01 =S LHAYI 3,000 3,000 0
FN2E SHAY 20,000& = 321 = 50 3,000

NE2es(HgiH=1) 181,050 100,000 81,050

HEAHHK = 181,050 100,000 81,050

JEtgl HEES 181,050 100,000 81,050

701 JIEtSI HSEES 181,050 0 181,050

01 JIEtel HE == 181,050 0 181,050
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